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—~ Consider the computer market in Taiwan: The domestic demand of computeris P =

30,000 - 3Q. The domestic supply of computer is P = 3,000 + 2Q. The supply of foreign
computer is perfectly elastic at $6,000.,

(—) What is the equilibrium price and quantity of computer in Taiwan with free
trade? What quantity will be supplied by foreign firms? (7%)

(=) What is the total domestic welfare under free trade? (7%)

(=) Suppose the Taiwan government imposes a quota of 3,000 computers. What
will happen to equilibrium price, quantity and the total domestic welfare
under the quota? Is the quota good domestic policy? (7%)

(P9) Now if the government releases the quota policy instead of tariff. Every

computer impdrted will be taxed $ 4,200, What will happen to the domestic
welfare? (7%)

— ~ Suppose a monopolist services two geographic markets that can be identified by the
following two demand relationships:

Demand of Market 1: Py = 100 - 2q;.
Demand of Market 2: P, = 100 —da.

If the marginal cost is $20. What is the total revenue in this case if the monopolist
tried to price according to a two-part taniff? (10%)
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=~ Consider a local brewery market with two stores, store M and store N. They produce
a similar good that is differentiated. Because some consumers have specific
preferences, they face the following symmetric demand curves:

2Qu=10—(Py+Py)  and 2Qn = 10~ (Px + Py).

And MCy = MCy = ACy = ACy = $5. Given the product differentiation, solve
reaction functions of store M and store N as P=F(P;), ij=M,N and i 4, and the
price and output in the market. (12%)
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